FLAT DOOR

Double Entry
Door

Coin/cuRReNCY CONTROLS

(MS, PACAMAN

MIOwRy  Type
Doo L

Featuring:
* Double entry

* 16 ga. all steel
construction

» Textured black
epoxy paint
* Flat key lock

e Mounting studs for
easy installation

 As used on Bally's
"Pac-Man” and
“"Ms. Pac-Man”

e Quick release mech
holders

¢ Each door coin tested
before shipment

* Depth of door into
cabinet isonly 2.12"

* |deal for cocktail
table type games

/,ﬂE-DG?P{ID

42-0061-00

o

Gv: 81-1118-00
_ 14y B1-1219-00

v _<-.\¢E~ﬂ.?26-m
PLASTIC MECH

(FITTED AS
STANDARD)
. 42-0052 -0
42039200 : /
R ~ /
LeC i %=1
ASS EhHL}-' V/ -
' x@ 42-0003-00
’__..—"’/ =T
42-0005-00
42.0004-00 *’/}‘
MOUNTING DIMENSIONS
3 14.06 " {358mm) =}
12 38" (31 4memj I |. 4 5TUDS 1032
: » THREAD, FOR
] - MOUNTING 1N
o 4 (10mm)
g d TR A 4 —— PANEL
i (amm) g
—;| — (Emm) e n R
E TP e Ef
i = DOOR OPEMING o = H '
# £ & CUT-0UT e T
gl & a8 : &
> 8| E (10men) s -
= @ | 3 | |
Lr;l ,..Ti'l b4 l TR
o -
" A k]
“‘-.______-‘ : l{?m:m
i HOLES
G
B .
FLAT DOOR Price per ea. 1-9 10+ g
A
40-0010-00 Flat door 79.00 75.00 T T

@HAPP CONTROLS, INC. 1799 4%



COIN/CURRENCY CONTROLS

DOORS FOR BILL VALIDATORS

Poker Style ' o | :
Bill Validator : Mcs, ppcmp NV
Doors

Featuring:
» Accepts bills and coins

* Available with all popular
validators without
stackers

* Available with or -
without validator

* Coin funnel for easy and
rapid coin acceptance

* Mounting dimensions same
as flat door, page 31

‘TFPE_ urTH'
m DotlAK Bite

ACCef TOK

BILL VALIDATOR DOORS FOR POKER Price per ea.
42-0185-00 Poker door assembly for Leisure =~ 80.00
- Entertainment, DBV-26, wio valldatnr
42-0186-00 Poker door asse mth ft:ur Mars "u"FM—4 75.00
L Twlo validators s s bl s TlREESE St
40-0335-00 Poker door aisemhlytnmplemwiﬂi - 350.00
Leisure Entertainment, DBV-26 valldatur
40-0340-00 Poker door assembly mmplete with ~  430.00
. Mars VFM-4. 1uv.'nlin:laeutm' F,\ B
@ ©HAPP CONTROLS, INC.

1994



4)sec Pr/vo Bt

WhEN

e Sepst-Boent

~OUIIER FIN MUST. Kove.

S ING
7T

EXTEHD BEYOND EoT70M

CHTE srEr

— |1_[sor7-00007-0icz] corTEE, P

4 |4 |00r7-00107-0140| 3 | ScEEw

1|1 [0050-00/72-00%F| 2 __|CoIN CHUTE TOR

1|1 |7090-00061-00xF| I _|Coin crHu7é ¢ KT _pSSY
QUINITY | ey Mo _[iTEr ES e PTION

g e —

9|8 i evows fivel
A030-00087- oo cASI Dook | MIDWAY MFG. CO.

ece s comIc
e g-29-97

cov m/ar._r =

9P _AsSY

R
Hos) 0—‘00@7

e

ewra]




ANTI-WIRE CHEAT CLIP

FLAT SIDE

|
|
|

1. Remove acceptor.
2. Install clip as shown,over edge of coin return cup.
3. Flat side on inside of cup.
4. Replace acceptor.
5. Source for clip :
Topy International Inc.
1583 Emhurst road
EX Grove Village |Ill. 60007
(312)-439-6560

Their Pt. No. $10203

19251



ANTI-CHEAT NICKEL ADJUSTMENT
COIN-CO ACCEPTOR
L MIDWAY p/n 0017-00005-0214

ADJUSTMENT SCREW

1 Ny

GAP ADJUSTED
TO PASS QUARTER
AND STOP NICKEL



Shanavins ol e . wiGe |
APPROVED
CO\U ACCE"TDR
Louts, M\$SD\AR\ 631\0
THER PARTND 56! |
2 i
| !
|
]

2370
| 4000
STRING CUTTER

3563 M

|
m—_ [COIN ACCEPTOR 257)

wicremng _cutreR




R

o o

ANTI-CHEAT COIN CHUTE REWORK

/
003 DIA. HOLE =<
THRU COVER
& BRACKET

. Drill L0983 DIA. hole thru cover and bracket as shown.

Remove burrs from edges of hole after drilling.
Insert 1/16" DIA. cotter pin.

Pin must move freely

. Object is to Kick penny to the right and slow it down.

Make sure quarter will pass through after cotter pin is inserted.

Lo



ANTI—CHEAT—DEVICES

MIDWAY PART NO.

A090-00087-0000

COIN CHUTE WITH PIN

A090-00064-0000

ANTI-PENNY DEVICE

0017-00005-0008

METAL ACCEPTOR WITH
STRING CUTTER (COIN MECH)

0017-00005-0214

METAL ACCEPTOR WITH STRING
CUTTER (COIN ACCEPTORS INC.)

0017-00005-0211

PLASTIC ACCEPTOR WITH
ANTI-STRING DEVICE
(COIN ACCEPTORS INC.)

A090-00061-0000

ANTI-STRING DEVICE

A090-00061-0100

ANTI-STRING DEVICE-MINI

ANTI-WIRE CHEAT CLIP

L. fuh
e



XTVVE: COIN-SWITCH (R)P: (ANTL-WIRE) 01

ANTI - WIRE COIN _ SWITCH _GUIDE
PART _ No. 0017 - 00005 - 0203

e s
7

PART MOMEER
0017-00005-0203 (Rev. ©)

screws

1. TURN POWER GFF TO THE GHE.

Open the con deoe ams locate the microsnltch at the bottum of the coln secepor
mechanisa.  See dbove Figure

Resove the two Indicated screws which secure the miccoswitch and the coln quide to the
bracket on the coln door and set them aside.

Remove an dlscard the old coln gulde, seplaclrg Lt with the new ATI-YIRE DIN QI
provided In your

‘ Install the new MTI-WIRE CDIN GUIDE and the old mlcroswitch to the bracket on the coln

door with the serews you resoved in Step 3 above. They should be psitioned as shown
the above Figure.

6. Repeat this procedute for the remaining coin acceptor coln gulde(s).

+ Turn the power to the game back on and run the game Self-Test.

8. Take the game out of Self-Test and drop some colns through each coin acceptor to make
sure they are all working properl;

Close and iock the cotn door. ORonrih



ANTI-PENNY DEVICE INSTALLATION
s A090-00064-0000
R

1. REMOVE COIN ACCEFTOR FROM BRACKET.

4 2. REMOVE (3) HEX HEAD SCREWS THAT HOLD BRACKET TO DOOR.
g :
T 3. REMOVE BRACKET FROM DOOR.
4. INSTALL ANTI-PENNY DEVICE MIDWAY PART NO. A090-00064-0000 USTNG (2)
6 x b SLOT HEX HEAD SCREWS MIDWAY PART NO, 0017-00101-0099. MOUNT
DEVICE WITH 1 SCREW FROM THE FRONT AND 1 SCREW FROM THE BACK OF
BRACKET AS SHOWN.
s # BRACKET BACK TO DOOR AND SHAP COIN ACCEPTOR BACK IN PLACE.
-
H

oy e co

Db TR



on =

@

11051-00086-A00 1

REV. *C* 9/14/81

FORIL

SHT. 10f 2

ANTI-STRING DEVICE INSTALLATION

N DETERMINE WHICH KIT YOU NEED
I ITEM 5 below (coin quide & switch assy.) on your game is made of plastic,

“order KIT NO. A090-00061-0100. You will receive ITEMS 2 and 3 below only.

If ITEM 5 below (coin guide & switch assy.) on your game is made of metal,

ofder KIT NO. 0090-00901-0000. You will receive ITEMS 2, 3, and § below!

INSTALLATION INSTRUCTIONS

. Remove 1/8" long slot head machine screw.
_ Install ANTI-STRINGING DEVICE (Midway p/n 0090-00907-0000).
- Replace 1/8" long slot head machine screw (STEP 1) with 3/8” long

SEMS phillips head screw (Midway p/n 0017-00101-0339).
IF_COIN GUIDE (ITEM 5) IS PLASTIC, INSTALLATION IS
COMPLETED. IF NOT, PROCEED WITH STEPS 4 & 5.

. Remove (2) #6 hex washer head screws which mount coin guide and switch

assy. to coin acceptor mounting. Discard.
Replace with new coin guide and switch assy. (Midway p/n A090-00077-0000)
using (2) #6 hex washer head screws removed in STEP 4.




SWITCH ADJUSTMENT TO PREVENT CREDIT
WITH STRINGING QUARTER
(for PAC-MAN & RALLY-X games only)

~ FIG. 1-Normal free position.
FIG. 2-Reform trip wire making it straight.
FIG. 3-Make bend in trip wire as close to retaining ring as possible
to dimension shown.

- -FIG. 1-
3

3

2.

e 2

-

o)

e

§3£§

ge RETAINING
2 RING

-FIG. 4-

1532 * 113

[ !
s QUARTER

-FIG. 3-
ALTERNATE METHOD:
Form wire straight per FIG. 2.
Reform wire per FIG. 3 (dotted line).
Using quarter as gauge, reform wire untl quarter is in position shown
with anti-string pawl engaged (see FIG. 4).
Switch must remain in opens (om Dosmon until quarter is lowered
further after wire is formed.




COIN-CO ACCEPTOR (PLASTIC)
MIDWAY p/n 0017-00005-0211
SLOT REQUIREMENT

REQUIRED FOR
MIDWAY ANTI-PENNY DEVICE

Qplarih
g



ANTI-CHEAT NICKEL ADJUSTMENT
IN MECH ACCEPTOR
MIDWAY p/n 0017-00005-0003

ADJUSTMENT SCREW

GAP ADJUSTED
TO PASS QUARTER
AND STOP NICKEL

2= 20.,
G584




COIN-CO PLASTIC ACCEPTOR
MAGNET ADJUSTMENT
MIDWAY p/n 0017-00005-0211

ACCEPTOR CAN BE SET TO ACCEPT U.S. QUARTERS ONLY
OR BOTH U.S. AND CANADIAN QUARTERS.

SLIDE MAGNET TO EXTREME RIGHT
— == (AS PICTURED) TO ACCEPT BOTH
U.S. AND CANADIAN QUARTERS.

TO ACCEPT U.S. QUARTERS ONLY, _g
SLIDE MAGNET TO EXTREME LEFT.

Db



	01Happ-MsPac-doorv2
	02Happ-DBA-MsPac-doorv2
	anticheat_01
	anticheat_02
	anticheat_03
	anticheat_04
	anticheat_05
	anticheat_06
	anticheat_07
	anticheat_08
	anticheat_09
	anticheat_10
	anticheat_11
	anticheat_12
	anticheat_13

